

$$t_{\Sigma} = t_1 + t_{\text{pol}} \quad d_{\Sigma} V \quad \Sigma_1 + d(n-1) \cdot 1.8$$

$$q_1 = \Sigma_1 \quad V(n-1) = \frac{1.8}{V} = 1.8 \quad n = 1.0$$

$$1.01 \times 10^6 \approx 99V$$

$$n = \frac{99V - 1.01 \times 10^6}{V} \approx 1.8$$

$$a_n = a_1 + (n-1)d \quad n=0 \rightarrow a_1 + a_1 + 0 = 1.8$$

$$n=1 \rightarrow a_1 + a_1 + a_1 = 4 \rightarrow 3a_1 = 4 \rightarrow a_1 = \frac{4}{3}$$

$$1.8a_1 + 4d = 9 \quad 1.8 \left(\frac{4}{3}\right) + 4d = 9 \quad 2.4 + 4d = 9 \quad 4d = 6.6 \quad d = 1.65$$

$$t_{\Sigma} = t_1 + t_{\text{pol}} + t_{\text{pol}}$$

$$(r^n - 1) + (r^n - r^m) = \Sigma_{k=1}^n r^k$$

$$r^n - 1 + r^n - r^m = 0$$

$$r^n - r^m - r^n + r^m = 0$$

$$(r^n - r^m)(r^m + 1) = 0$$

$$r^n - r^m = 0 \quad t_{1,1} - t_{1,1} = 0$$

$$d = \frac{0}{r} \quad t_{1,1} + t_{1,1} = 1.0$$

$$t_{1,1} + t_{1,1} + 9d = 1.0 \quad t_{1,1} + t_{1,1} = 1.0$$

$$t_{1,1} = 1.0 + 9 \cdot \frac{0}{r} = 1.0$$

$$r^n - r^m - r^n + r^m = 0$$

$$(r^n - r^m)(r^m + 1) = 0$$

$$r^n - r^m = 0 \quad t_{1,1} - t_{1,1} = 0$$

$$d = \frac{0}{r} \quad t_{1,1} + t_{1,1} = 1.0$$

$$t_{1,1} + t_{1,1} + 9d = 1.0 \quad t_{1,1} + t_{1,1} = 1.0$$

$$t_{1,1} = 1.0 + 9 \cdot \frac{0}{r} = 1.0$$

$$r^n - r^m - r^n + r^m = 0$$

$$(r^n - r^m)(r^m + 1) = 0$$

$$r^n - r^m = 0 \quad t_{1,1} - t_{1,1} = 0$$

$$d = \frac{0}{r} \quad t_{1,1} + t_{1,1} = 1.0$$

$$t_{1,1} + t_{1,1} + 9d = 1.0 \quad t_{1,1} + t_{1,1} = 1.0$$

$$t_{1,1} = 1.0 + 9 \cdot \frac{0}{r} = 1.0$$

$$t_{1,1} + t_{1,1} + 9d = 1.0$$

$$t_{1,1} + t_{1,1} = 1.0$$

$$t_{1,1} = 1.0 + 9 \cdot \frac{0}{r} = 1.0$$

$$S_0 = (t_0 + \dots + t_1) \quad S_1 = S_0 + \underbrace{t_0 + \dots + t_1}_{S_0} = 4$$

$$S_1 = 0(t_1 + 9d) = \sum_{i=1}^r 0(t_i + \epsilon d) \quad \frac{t_1}{t_1} = \frac{t_1 + d}{t_1}$$

$$1 \cdot t_1 + \epsilon d = r \cdot t_1 + r \cdot d$$

$$r d = 10 d = 0 \quad (t_0 + r_0) = (t_0) \quad t_1 t_0 + 1 = v$$

$$\frac{t_1 + 9d}{t_1} = \frac{t_0}{t_0} \Rightarrow \frac{\epsilon_0(t_0 + t_1) + \epsilon_0}{(t_0 + t_1)} = \epsilon_0$$

$$d = \frac{1 + \sqrt{r} - r + 12\sqrt{r}}{12} = \frac{12\sqrt{r}}{12} \rightarrow \sqrt{r}$$

$$\frac{r_1 - r}{\epsilon_{n-1}} \rightarrow \frac{r_0}{\epsilon_{n-1}} \rightarrow \frac{10}{\epsilon_{n-1}} \quad a_{n+1} = r + (n)d = 11$$

$$a_{n+1} = r + (n)d = 11$$

$$r + n \left(\frac{10}{r_{n-1}} \right) = 11 \quad \frac{10n}{r_{n-1}} = 9 \quad 10n - 9 \leq 10n \quad r_n = 9$$

$$t_n = t_{n+1} = t_{10} + t_1 \quad r_0 = n + 11 = 12$$

$$t_1 = r t_2 \rightarrow t_1 + d = r t_1 + d \quad t_1(n-1)d = 0$$

$$rd = 1t_1 \quad d = t_1 \quad t_1 = t_1 + t_1 = 2t_1$$

دکتر

$$r t_1 = t_1 n \rightarrow n = r$$